

$$y = \frac{17}{9}$$

$$3x - 5y = 6$$

$$3x - 5(9) = 6$$

$$3x - 45 = 6$$

$$3x = 6 + 45$$

$$3x = 51 \Rightarrow x = \frac{51}{3} = 17$$

length = 17 units

Breadth = 9 units

Ex-3.6

1. (i)  $\frac{1}{2x} + \frac{1}{3y} = 2$

$$\frac{1}{3x} + \frac{1}{2y} = \frac{13}{6}$$

Let  $\frac{1}{x} = u$  and  $\frac{1}{y} = v$

$$\frac{1}{2}u + \frac{1}{3}v = 2 \Rightarrow 3u + 2v = 12$$

$$\frac{1}{3}u + \frac{1}{2}v = \frac{13}{6} \Rightarrow \frac{2u + 3v}{6} = \frac{13}{6}$$

$$\Rightarrow 2u + 3v = 13$$

$$3u + 2v = 12$$

$$3u = 12 - 2v \Rightarrow u = \frac{12 - 2v}{3}$$

$$2u + 3v = 13$$

$$\Rightarrow 2\left(\frac{12 - 2v}{3}\right) + 3v = 13$$

$$\Rightarrow 24 + 4v + 9v = 39$$

$$\Rightarrow -4v + 9v = 39 - 24$$

$$\Rightarrow 5v = 15 \Rightarrow v = \frac{15}{5} = 3$$

$$3u + 2v = 12$$

$$3u + 2(3) = 12 \Rightarrow 3u + 6 = 12 \Rightarrow 3u = 12 - 6 \Rightarrow 3u = 6$$

$$\Rightarrow u = \frac{6}{3} = 2$$

$$\begin{array}{l|l} u = 2 & v = 3 \\ 2 = \frac{1}{x} & 3 = \frac{1}{y} \\ \Rightarrow \frac{1}{x} = 2 & \Rightarrow y = \frac{1}{3} \end{array}$$

(ii)  $\frac{2}{\sqrt{x}} + \frac{3}{\sqrt{y}} = 2$

$$\frac{4}{\sqrt{x}} - \frac{9}{\sqrt{y}} = -1$$

Let  $\frac{1}{\sqrt{x}} = u$  and  $\frac{1}{\sqrt{y}} = v$

$$2u + 3v = 2$$

$$4u - 9v = -1$$

$$2u + 3v = 2$$

$$\Rightarrow 2u = 2 - 3v$$

$$\Rightarrow u = \frac{2 - 3v}{2}$$

$$2\left(\frac{2 - 3v}{2}\right) - 9v = -1 \Rightarrow 4 - 6v - 9v = -1$$

$$\Rightarrow -6v - 9v = -1 - 4 \Rightarrow -15v = -5$$

$$\Rightarrow v = \frac{-5}{-15} = \frac{1}{3}$$

$$2u + 3v = 2$$

$$2u + 3\left(\frac{1}{3}\right) = 2 \Rightarrow 2u + 1 = 2 \Rightarrow 2u = 2 - 1$$

$$\Rightarrow 2u = 1 \Rightarrow u = \frac{1}{2}$$

$$u = \frac{1}{2}$$

$$\frac{1}{\sqrt{x}} = \frac{1}{2}$$

$$\Rightarrow \sqrt{x} = 2$$

$$(\sqrt{x})^2 = (2)^2$$

$$x = 4$$

$$v = \frac{1}{3}$$

$$\frac{1}{\sqrt{y}} = \frac{1}{3} \Rightarrow \sqrt{y} = 3$$

$$(\sqrt{y})^2 = (3)^2$$

$$y = 9$$

(iii)  $\frac{4}{x} + 3y = 14$

$\frac{3}{x} - 4y = 23$

Let  $\frac{1}{x} = u$

$4u + 3y = 14$

$3u - 4y = 23$

$4u = 14 - 3y$

$\Rightarrow u = \frac{14 - 3y}{4}$

$3\left(\frac{14 - 3y}{4}\right) - 4y = 23$

$\Rightarrow 42 - 9y - 16y = 92$

$\Rightarrow -9y - 16y = 92 - 42$

$\Rightarrow -25y = 50 \Rightarrow y = \frac{50}{-25} = -2$

$4u + 3y = 14$

$\Rightarrow 4u + 3(-2) = 14 \Rightarrow 4u - 6 = 14 \Rightarrow 4u = 14 + 6$

$\Rightarrow 4u = 20 \Rightarrow u = \frac{20}{4} = 5$

$u = \frac{1}{x} \Rightarrow 5 = \frac{1}{x} \Rightarrow x = \frac{1}{5}$

(iv)  $\frac{5}{x-1} + \frac{1}{y-2} = 2$       $\frac{1}{x-1} = u$

$\frac{6}{x-1} + \frac{3}{y-2} = 1$       $\frac{1}{y-2} = v$

$5u + v = 2$

$6u - 3v = 1$

$5u + v = 2$

$v = 2 - 5u$

$6u - 3(2 - 5u) = 1$

$\Rightarrow 6u - 6 + 15u = 1 \Rightarrow 6u + 15u = 1 + 6 \Rightarrow 21u = 7$

$\Rightarrow u = \frac{7}{21} = \frac{1}{3}$

But  $v = 2$

$\Rightarrow 5\left(\frac{1}{3}\right) + v = 2 \Rightarrow \frac{5}{3} + v = 2 \Rightarrow v = 2 - \frac{5}{3}$

$\Rightarrow v = \frac{6 - 5}{3} \Rightarrow v = \frac{1}{3}$

$u = \frac{1}{x-1}$

$\Rightarrow \frac{1}{3} = \frac{1}{x-1} \Rightarrow x-1 = 3 \Rightarrow x = 3+1 \Rightarrow x = 4$

$v = \frac{1}{y-2} \Rightarrow \frac{1}{3} = \frac{1}{y-2} \Rightarrow y-2 = 3$

$\Rightarrow y = 3+2 \Rightarrow y = 5$

(v)  $\frac{7x-2y}{xy} = 5$

$\frac{8x+7y}{xy} = 15$

$\frac{7x-2y}{xy} = 5$

$\frac{8x+7y}{xy} = 15$

$\frac{7}{y} - \frac{2}{x} = 5$

$\frac{8}{y} + \frac{7}{x} = 15$

$-\frac{2}{x} + \frac{7}{y} = 5$

$\frac{7}{x} + \frac{8}{y} = 15$

$\frac{1}{x} = u$  &  $\frac{1}{y} = v$

$-2u + 7v = 5$

$7u + 8v = 15$

$7v = 5 + 2u$

$\Rightarrow v = \frac{5 + 2u}{7}$

$$7u + 8 \left( \frac{5+2v}{7} \right) = 15$$

$$\Rightarrow 49u + 80 + 16v = 105$$

$$\Rightarrow 49u + 16v = 105 - 80 \Rightarrow 49u + 16v = 25$$

$$-2(1) + 7v = 5$$

$$-2 + 7v = 5 \Rightarrow 7v = 5 + 2 \Rightarrow 7v = 7 \Rightarrow v = 1$$

$$u = \frac{1}{7} \Rightarrow 1 - \frac{1}{7} \Rightarrow x = 1$$

$$v = \frac{1}{7} \Rightarrow 1 = \frac{1}{7} \Rightarrow y = 1$$

(vi)  $6x + 3y = 6xy$

$$\frac{6x}{3y} + \frac{3y}{3y} = \frac{6xy}{xy} \quad \left| \quad \frac{2x}{xy} + \frac{1y}{xy} = 5 \right.$$

$$\frac{6}{y} + \frac{1}{x} = 6 \quad \left| \quad \frac{2}{y} + \frac{1}{x} = 5 \right.$$

$$\frac{1}{x} = 6 - \frac{6}{y} \quad \left| \quad \frac{1}{y} = 5 - \frac{2}{y} \right.$$

$$6v + 3u = 6$$

$$2v + 4u = 5$$

$$6v = 6 - 3u$$

$$\Rightarrow v = \frac{6-3u}{6}$$

$$2 \left( \frac{6-3u}{6} \right) + 4u = 5 \Rightarrow 6-3u + 12u = 15$$

$$\Rightarrow -3u + 12u = 15 - 6 \Rightarrow 9u = 9 \Rightarrow u = 1$$

$$6v + 3u = 6$$

$$\Rightarrow 6v + 3(1) = 6$$

$$\Rightarrow 6v + 3 = 6 \Rightarrow 6v = 6 - 3 \Rightarrow 6v = 3 \Rightarrow v = \frac{3}{6} = \frac{1}{2}$$

$$u = \frac{1}{x}$$

$$-1 \geq \frac{1}{x} \Rightarrow x = 1$$

$$v = \frac{1}{y}$$

$$\Rightarrow y = 2$$

(vii)  $\frac{10}{xy} + \frac{2}{x-y} = 4$        $\frac{1}{x+y} = v$

$\frac{19}{xy} - \frac{5}{x-y} = -2$        $\frac{1}{xy} = v$

$$10v + 2v = 4$$

$$19v - 5v = -2$$

$$10v = 4 - 2v$$

$$v = \frac{4-2v}{10}$$

$$3 \left( \frac{4-2v}{10} \right) - 5v = -2$$

$$\Rightarrow 12 - 6v - 10v = -4 \Rightarrow -6v - 10v = -4 - 12$$

$$\Rightarrow -16v = -16 \Rightarrow v = \frac{-16}{-16} = 1$$

$$10v + 2(1) = 4$$

$$\Rightarrow 10v + 2 = 4$$

$$\Rightarrow 10v = 4 - 2 \Rightarrow 10v = 2 \Rightarrow v = \frac{2}{10} = \frac{1}{5}$$

$$v = \frac{1}{x+y} \Rightarrow \frac{1}{5} = \frac{1}{x+y} \Rightarrow x+y = 5$$

$$v = \frac{1}{xy} \Rightarrow 1 = \frac{1}{xy} \Rightarrow x-y = 1$$

$$(x+y)(x-1) = 5+1 \Rightarrow 2x-6 \Rightarrow x = \frac{8}{2}$$

$$x+y=5 \Rightarrow 3+y=5 \Rightarrow y=5-3 \Rightarrow y=2$$

$$\text{viki: } \frac{1}{3x-y} + \frac{1}{3xy} = \frac{3}{4} \quad \frac{1}{3x+y} = v$$

$$\frac{1}{2(3x-y)} = \frac{1}{2(3x+y)} = \frac{-1}{8} \quad \frac{1}{3x-y} = v$$

$$v+v=3$$

$$4(v+v)=12$$

$$4v+4v=12$$

$$\frac{1}{2}v - \frac{1}{2}v = \frac{-1}{8}$$

$$\frac{v-v}{2} = \frac{-1}{8}$$

$$4 \times \frac{(v-v)}{2} = -1$$

$$4(v-v) = -1 \Rightarrow 4v - 4v = -1$$

$$4v+4v=3$$

$$4v-4v=-1$$

$$(4v+4v) + (4v-4v) = 3 + (-1)$$

$$\Rightarrow 8v=2 \Rightarrow v = \frac{2}{8} = \frac{1}{4}$$

$$4v+4v=3$$

$$\Rightarrow 4\left(\frac{1}{4}\right) + 4v=3$$

$$\Rightarrow 1+4v=3 \Rightarrow 4v=3-1 \Rightarrow 4v=2 \Rightarrow v = \frac{2}{4} = \frac{1}{2}$$

$$v = \frac{1}{4} \quad 8v = \frac{1}{2}$$

$$v = \frac{1}{3x-y} \Rightarrow \frac{1}{y} = \frac{1}{3x+y} \Rightarrow 3xy = y$$

$$v = \frac{1}{3x-y} \Rightarrow \frac{1}{2} = \frac{1}{3x-y} \Rightarrow 3x-y=2$$

$$(3+y)(3x-y) = 4+2$$

$$\Rightarrow 6x = 6 \Rightarrow x = 1$$

$$3x+y=4$$

$$\Rightarrow 3(1)+y=4$$

$$\Rightarrow 3+y=4 \Rightarrow y=4-3 \Rightarrow y=1$$

2 (3) Speed of Ritu rowing in water be  $x$  km/hr  
 Speed of current be  $y$  km/hr

Downward speed =  $x+y$  km/hr

Upward speed =  $x-y$  km/hr

Time: Distance  
 speed

$$20 = 2$$

$$x+y$$

$$\Rightarrow x+y = 10 \quad \text{--- (1)}$$

upstream

$$\frac{4}{x-y} = 2$$

$$x-y$$

$$\Rightarrow x-y = 2 \quad \text{--- (2)}$$

$$x+y=10 \quad x=10-y$$

$$x-y=2$$

$$(10-y)-y=2$$

$$\Rightarrow 10-2y=2-10$$

$$\Rightarrow -2y = -8 \Rightarrow y = \frac{-8}{-2} = 4$$

$$x+y=10$$

$$\Rightarrow x+4=10$$

$$\Rightarrow x=10-4 \Rightarrow x=6$$

